Ramakrishna Mission Industrial Training Institute, Narendrapur Kolkata — 700103
ITI Admission Test — 2019

Candidate’s Roll No.: Name: A

Maximum Marks: 50 Time: 1 hour
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Total Marks (2 x 50 = 100 )

Write the correct alternative in the space provided. In case of overwriting, no mark will be awarded.
Do rough work in the last 2 pages.
Q.1. a3 ofge Rusy @I ofge-2[E 96 —

1In a electrolytic cell current electricity is passed from -

a) CFITINF SICYS FICATC CATF FILATE b) CFITHA STHT BHICATC CATF FIICATS

¢) AT IS MTT FIITATE CATF SHITAITE d) IZCAT I91 (T SHICATS CACE FHCATS

a) cathode to anode through the cell b) anode to cathode through the cell

¢) cathode to anode through an electric wire d) anode to cathode through an electric wire

Q.l.Ans:

Q2. 37 Twoin AME otad SNTH™ STe b FICsd A JBIPATCe SAfdafes 27—+ 57a?
“For a fixed amount of an ideal gas kept at a fixed temperature, pressure and volume are inversely
proportional” — who propounded this law?
a) IAACE  b) I ¢) SHICSHIGE d) SIFIE
a) Boyle b) Charles ¢) Avogadro d) Pascal Q2.Ans:

Q3. G 40W a7 ATSTE F© TH1 GIAICH 1 IS5 SfSe Uq5 T2
How long a lamp of 40W is to be in use to consume l-unit of electricity?
a) 35 hour b) 15 hour ¢) 5 hour d) 25 hour Q3.Ans:

Q4. eIt SI 9ags &2
What is the SI unit of electric charge?

a) 516 Fo1F b) FTF ¢) SR d) S516 Sifrg
a) start coulomb b).coulomb  c¢) ampere d) start ampere Q.4.Ans:

Q.5. ANTEA T CANTHFCAS (G ISTA?

In which of'the following compound equivalent triple bond is there?
a) HCI b) HBr c) HI d) HCN Q.5.Ans:

Q6. 27°C SIHNIQIT aF o AT SIrre= 2 fFbia] {53 GIcst T SieiarT ag Sirred 3 F6E 22
The volume of a gas at 27°C is 2 Itrs. In what temperature will it be 3 Itrs. if the pressure remains constant?
a) 174°C b) 175°C ¢) 166°C d) 177°C Q.6.Ans:

Q7. The minimum deviation of a ray of light during refraction is
fE¢apl-Z -Lj-ej B-mjLI¢nEl e§Eeaj Q¥E¢a qu
a) 45° b)90° ¢)0° d)180° Q.7.Ans:

Q8. ITISCHTA TN GARA —  The lowest layer of atmosphere is—

a) JICoIwa b) SMCAIFE ¢) Jeonf~wag d) SeiCCh T
a) Stratosphere b) lonosphere c) Troposphere d) Magnetosphere Q 8.Ans:
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a) 20 b) 30 015 d) 25 Q 19. Ans:

Q20. a*a%a’=? a) a’ b) a’ c)a’ d) a? Q20.Ans:

Q21. FEAFAI2 - [2+2+ {242+ (2+2+4))] Simplify:2=[2+2+{2+2+(2+2+4)}]
14 19

a) el b) T c) 0 d 1 Q 21.Ans:

Q22. How much canvas will be required to make a conical tent 8§ m in height and 12 m in diameter ?

b (517 Tebot @ 33 G 7h1id AT 9l =g oig Cofd Fate Fobt fqae waata 2
a) b) c) d) Q 22.Ans:

Q23. STV & 3rd SNE, 1978 SIACA SAFSt SHAWIA (BT 4 TMTa 381 &7 327 Aeriog Mast *ifSatg fRe
AT TR &2

Sarada’s birthday is 3¢ March, 1978. Saraswati is 4 days’ older than Sarada. That year Republic Day was on

aturday. What is the weekday that Saraswati was born?
a) I b) BHAF o) WERE  d) JRIfeE
a) Wednesday b) Friday ¢) Tuesday  d) Thursday Q 23.Ans:

Q24. W7 SARTBME NET SHFE N —2/5,1/2, 3/7,2/3, 1/4
Choose the correct sequence of the following fractions in ascending order—

2/5,1/2,3/7,2/3, %
a) 1/4,3/7,2/5,1/2,2/3 b) 1/4,2/5, 3/7,1/2, 2/3
c)1/4,1/2,2/5,3/7,2/3 d) 2/5,1/4,1/2, 3/7;2/3 Q 24.Ans:

Q25. fiipe, kst @32 Bhe1 @36 JBIFIA T PHIFNA SRSH FACS aF3 T (AF 9F2 S 932 e
ST BF I T A SAfoTw FACS (et (I 252 CILFS; FHE ATATH 308 CILFS; 942 BHTEd CFLq

B 198 CTLEFS| F© W SILT AT ST Tt BFa Fiew fHifers 2632

Mitul, Litul and Tutul start at the same time In the same direction to run around a circular stadium. Mitul

completes a round in 252 seconds, Litul in 308 seconds and Tutul in 198 seconds, all starting at the same

point. After what time will they again at the starting point?

a) 26 minutes and 18 seconds b) 42 minutes and 36 seconds
¢) 45 minutes d) 46 minutes and 12 seconds Q 25.Ans:

Q26. 336 MATAA40% ST MU R-POIRTT FHE| 733 3 RO MAF S Fo?

If 40% of .a number is equal to two-third of another number, what is the ratio of first number to the second

number?
a)2:5 b)3:7 c)5:3 d)7:3 Q26 .Ans:

Q27.°If a sum of money compounded annually becomes 1-44 times of itself in 2 years, then the rate of interest per

annum is .
W g BT 2 370 AITRE bHI@2ITH (AR O.88 B 2, SIRCH OIF IAAF v T F© A 2
a) b) c) d) Q 27.Ans:

2
Q28. Find the simple interest on Rs 64,000 at 16; % per annum for 9 months.

eAfaE 16%% RUTA Rs 64,000 BIFI 9 TTHI AFeT W $© *CA 2
a) b) c) d) Q 28.Ans:

Q29. If3a? = 6a — 5and 3b%? = 6b — 5 find the value of @ + b where a # b
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M 3a? = 6a— 5932 3b%> = 6b — 527,91 a # b« a + b 9N IO U2
a) b) c) d) Q 29.Ans:

Q30. If(3x —2y): (3x+2y) =4 : 5, find the value of X : Y.
T (3x —2y): Bx+2y) =4:527 o2 x : y a3 T @2
a) b) c) d) Q 30.Ans:

Q31.The median of the numbers 9, 1, 2, 8,7, 6,4, 3,5 is
9,1,2,8,7,6,4,3,5 af&a 1F =
a) b) c) d) Q31.Ans:

Q 32. 9% SITSCHLAA i [r@e 1R 2 forws Tl 2T o Chawst o @ Jfa A2

If'the length and breadth of a rectangle are increased twice and thrice respectively, how many times the area

will be increased?
a)2 b) 3 c)6 45 Q 32.Ans:

Q33.. AT I T IS ICWR?  How many edges are in a cube?

a) 6 b) 12 c)8 d) 16 Q 33.Ans:
Q34. The angle, which is less than 90° is known as . (T (FI 500-7 (ACF FHA OILF 1A

a) TR bR o) RevarEw d) CFIAIGE T3

a) Obtuse angle b) Acute angle c¢) Complimentary d) None of these Q34.Ans:
Q35. The angle is more than 90° is known as . (T T $00-7 CATF @AM SILF ITT

a) TR RN o) Revarpe d) GIAIGE T3

a) Obtuse angle b) Acute angle ' ¢) Complimentary d) None of these Q35.Ans:
Q36. Two angles are called angle, if their sum is 180% WfGTHFICAA TS 180° RCH, SICHACE AT __

a) Supplementary b) Complimentary c¢) Obtuse d) None of these Q36.Ans:
Q37. Interior angle of a Hexagon is . a3l Ipeced WEE (T

a) 130° b) 125° o) 120° d) 115° Q37.Ans:

Q38. Find the area of regular hexagon of side 2.6cm.
2.6em AT RFTBOFHH T ToQCeT CFaPaT 2T
a) 18.28cm? b) 20.25cm? ¢) 17.56cm? d) 16cm? Q38.Ans:

Q39 .93 TI@T Fe3[ TREAT TE@®? How many edges are in a cube?
a)6 b) 12 c)8 d) 16 Q 10.Ans:

Q40. Value of tan(-1125% is

a) -1 b) 1 c)0 d) None of these Q40.Ans:
Q.41. Raj and his family here since May 1980.
a) Isliving b) have been living  c¢) are living  d) has been living Q41.Ans:
Q.42 Our examination on 4™ March.
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a) Has begun b) is beginning c) begins d) began Q42.Ans:

Q.43 They when the theif entered the beroom.
a) Sleep b) were sleeping c) slept d) are sleeping Q43.Ans:

Q44 .1 the painting just now.

a) Finished b) had finished ¢) finish d) have finished Q44.Ans:
Q.45 Look there, the man the child.

a) Isbeating b)beats c) beat d) has beaten Q45.Ans:
Q. 46. Suddenly I -------------mmmmm - something strange.

a) looked at b) saw Q46.Ans:

Q47. Select the correct spelling..
a) Efficient b) Treatmeant c)Betermeant d) Employd Q47.Ans:

Q48.Fate smiles ...... those who untiringly grapple with stark realities of life.
a) With b) Over c) On d) Round Q48.Ans:

Q49. Catching the earlier train will give us the ...... to do some shopping.
a) Chance b) Luck c) Possibly d) Occasion Q49.Ans:

Q.50 In the following questions choose the word which best expresses the meaning of the given word.

WARRIOR
A) Soldier b) Sailor c) Pirate d) Spy Q49.Ans:
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